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£ b R - BT & Bifsr # = B & %8 i =
EERE 12,112, 264
MTREEEER 12,112, 264
MRS EEER 12,112, 264
EEER 11,507, 650
EEER 11,308, 150
1 BEER (HEEME) (BEER) 77.00 57,000 4,389,000
=)
2 EEHER (MEEME) (BEEES 77.00 4,900 377, 300
)
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3 BEER (BLUBEHE) (REES) 77.00 33, 600 2,587, 200
=)
4 FEER (BLUBEHMHE) (REFERES 77.00 2,890 222,530
) =35
b EHER (MiEHEME) (&ME3h) wEE| 1 189. 00 8,090 1,529,010
=35
6 EEER (HEEME) (BRE1h) 63.00 7,130 449,190
=35
1 EEER (MEHENE) (REEE | REEIE 63. 00 5,870 369, 810
) R
8 BIEEW (ELUBMHE) (&ME3N) wEE|1E 189. 00 4,770 901, 530
A
9 EFIEEN (BLUBMHE) (BE1h) 63. 00 4, 200 264, 600
B ]
10 BEEF (BLHEME) (KRR |REDIE 63. 00 3, 460 217, 980
)
B ]
EHTEE 142, 500
= s 5.00 28, 500 142, 500
=]
WE - S 57,000
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12 & - |E 2.00 28,500 57,000
(]

EERE 604, 614

EHRRE 41,938

13 EHRAME 1.00 41,938 41,938
=

BFetEHERN 83, 876

14 BEEHRERARE 1.00 83, 876 83, 876
=X

EHEEHNRVRERE 478, 800

15 EHEEEHNRVERE 1.00 478, 800 478, 800
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EZR A 11,507, 650 + 604, 614 12,112, 264
HEAGE 11,507, 650
EERE 604, 614
T Ot R 11,507,650 x 42.86% ( 30% +~ (1 — 30%) ) 4,932,178
XBRIE 12,112,264 + 4,932,178 17,044, 442
—REEEE 17,044,442 x 53.85% (35% + (1 — 35%) ) — 2,874 9,175, 558
RHBmAE 17,044,442 + 9,175,558 26, 220, 000
HERFHELE 26,220,000 x 10.00% 2,622,000
£HRFIH 26,220,000 + 2,622, 000 28, 842, 000




